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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP Term End Examination December-2019 & June-2020

1. Date of Publication : 14/02/2020

2. Last date of Submission of answer script by the student to the study :07/03/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 08/04 /2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. :18/04/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04 /2020
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Symbols used have their usual meanings.
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Answer any two questions :
1. a) @ g NG e N, BT o w9 @@ K T @ Gi@w oGS @ |l
WG B 207 (59 ©Ioe 18 o756 1 =T A | O SR8 @6 IoT Bl 2o | @8 Il Al
28T ARRE PO ? 6
An urn contains N; white and N 2 black balls, from which K balls are drawn one by
one without replacement and laid aside, their colour being unnoted. Then one more
ball is drawn. Find the probability that it is white.
b) G0 W AT 2R @Y BT | (< n) b TR (head) NS TR NefH T2 | 4
A coin is tossed n times in succession. Find the probability of r (< n) heads.
2. a) M IR AGET GF TE @A SENPETI HRA g ORET 2T FE (T FE K
q 1
SAFET STRR 2 I x" K1 ) Kax /I K (12 x)Kdx.
0 0
S
Prove that in n Bernoulli trials with probability of failure g, the probability of at most
1
K successes is I x”_K_l(l - X )de /j- XK (1- x)de.
0 0
b) G0 T AN A FIC0 ARKE TR %GRR © B 00 AR SRR % IRIERSIGE
FATSI@ (58 T, I TN T T 2 5
The probability that A can solve a certain problem is % and that B can solve it is %
If both try it independently, what is the probability that it is solved ?
3. a) 500 &7 G W& 0F (& Gl FREE 7 26T TWIA Fo 2 (4F 2@
365 v =Mz 1) 5
What is the probability that in a company of 500 people only two persons will have
birthday on New Year's Day ? (Assume that a year has 365 days).
b) T A0S 15 T2 SICT QA Ja B, ORET 50 2 (I @ 1 REA TR F 2

)
If there is a war every 15 years on the average, find the probability that there will be
no war in 50 years.
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4. a) GF0 T X-AF AT U9 IACMFS T Asec hx . ACR@ &P A, P(X <1) @R
P(| X |21)-a3 X efF 26 | 5

The probability density function of a random variable X is Asec hx . Find the value
of the constant A and compute P(X <1) and P(| X |[>1).

b) M X,y(l) 55 2T ORET E (VX )-aF F el T | 5
If Xis a y(l) variate, compute E(\/}).

A TE€d / First Answer :
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Answer any three questions :

S.

10.

G0 ARRAT I9 SCFHP f(x):%x(Q—x) (0<x<2)| TG, (SN 8 TAANFOR FRoNF

Yy (I P 6
The probability density function of a continuous distribution 1is given by

f(x)=%x(2—x) (0O<x<2). Compute the mean, variance and the coefficient of

skewness y; .

AT NI ST ofa e Tt orw 2 27| 6

Find the median for the Poisson distribution having mean 2.

Tfr fawifies qe WS f(x,y) = 3x2 — 8xy + 6y2, (0< x,y<1) R, ORET AN (T bR
7 S 7 | 6
If f(xy)= 3x2 - 8xy + 6y2, (0 < x,y <1) then show that the variates are dependent.
@plo 95 fmiT iees ARl =1 (1,0), (0, 1), (-1,0),(0, -1)1 a3 I=fPere
@8 (QI06T Toig RSl Wewel 1 RET @iy AW (X,Y) BW, ORET X, Y-@F YT g

IFP [T T @R (TR (T O S Y | 6
A dart is thrown at random on a square target board having vertices ( 1, 0 ), (0, 1),
(-1, 0) and ( O, -1 ), the point at which the dart hit the board being (X,Y ). Find the

marginal density functions of X and Y and show that they are dependent.

X, Y TG AP g @ O i, 5516 @< ORI SoPF | (R (T X +Y @S (o

(Hy +py) DI 6
Prove that the sum of two independent Poisson variates X and Y having parameters p,

and p, is a Poisson variate having parameter py +p,.

M (X,Y)-97 NE*F T AR f9pee Freike HE=H, $=E @l @

2 2
X-m (X=-m )(Y-m_ ) (Y-m, )
( x) ~2p al I+ Y l/1-p2) @3 btoid e 2@ 42 (2).
G2 Ox0y G2
X y
6
If (X,Y) has the general variate normal distribution, show that
2 _ _ _ 2
(X-m._) (X-m )J(Y-m_ ) (Y-m,)
2t —— 1/ (1-p?)
Gy x°y Sy

has a XQ -distribution with 2 degrees of freedom.
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Answer any four questions :

11. &9 TeT@IMG x+ 6y = 6, 3x+2y =10 BCT 510 @ el fNefH e | 3
If the regression lines are x+ 6y =6 and 3x+2y =10, find the means and the correlation
coefficient.

1— 2 c,0

12, (R (3 w1 39f eiferse JeTe@ 76 30 37 @1l 9 ZCT tan6 = pp : 2+y2. 3

oy +0y

13.

14.

15.

16.

17.

18.

Show that acute angle 6 between the least square regression lines is given by

_ 2 o,0
tan@:1 p . 2x y2.
p o + 0y

aw p(x, =0)=Ln GER P(Xn=1)=1—% @A n=1,2,3, .. 27 IRXE @ @
2 2

2
XTL_XHT)OXIWH'_)OO' 3

If P(X =O)=L&P(X =1)=1—L where n=1, 2, 3, ..., then show that
n 27’7, n 2n

2
XH_XHT)O as n — .

I x @36 y(n) 5o7F 27, A P(O<X<2n)2n;1. 3

If Xis a y(n) variate, then show that P(0< X <2n)2 n_l.

O . BT (AT SAFFPL ([T 33 | 3

Find the characteristic function of the Poisson p-variate.

@ (@ @I (Cauchy) NEET 91T @ (GH-GF T 13 | 3

Show that mean & variance does not exist for Cauchy distribution.

M g(x)20 V xeRER E{g(X)}=0 2T ORE MIT @ g(X)=0. 3
If g(x)20 vxelRand E{g(X)}=0 then show that g(X)=0.

oI I (T pg = 0y —3am+2m?, @A m=E(X), o = E(X), (k=23),
g =E{(X-m)®}. 3
Prove that i3 =0L3—30L2m+2m2, where m=E(X), o =E(Xk), (k=23),

ng =E{(X-m)’}.
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